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Algebra 1

3.5 - Best Method
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Solve each system by any method.

1)  x + y = 1
2x - 3y = 12

A)  (2, 3) B)  (-2, 3)
C)  (2, -3) D)  (3, -2)*

2)  x - 4y = -16
7x + 4y = -16

A)  (4, 3)
*B)  (-4, 3)

C)  (-4, -3)
D)  Infinite number of solutions

3)  y = 1
2x + 2y = 6

A)  (2, 1)* B)  (-1, -8)
C)  (1, -8) D)  (-8, 1)

4)  -3x - y = -22
3x + y = 28

A)  No solution* B)  (10, 10)
C)  (-8, 10) D)  (10, 5)

5)  y = 4
-x - 6y = -18

A)  (-6, -4) B)  (-1, 4)
C)  (-2, -1) D)  (-6, 4)*

6)  -4x + 5y = -22
y = 2x - 14

A)  (8, 2)* B)  (-8, 2)
C)  (2, -8) D)  (-5, 2)



©L w2F0X1j9d rKbuktma` eSjohfBtYwWaArBen LLrLzC\.N b _AxlIlz ^rdirgQh`tJsD FryebsneLrrvFe\dp.u O xMGaudIez FwGiMt_h[ qIWnGfwi_nVidtwev AA`lEgdenbOrVat P1R.

Worksheet by Kuta Software LLC

-2-

7)  4x + 20y = 8
x - 10y = -13

A)  (-3, 4) B)  (4, 4)
C)  (3, -4) D)  (-3, 1)*

8)  -5x - 8y = -5
-2x - 5y = -11

A)  (-7, 5)* B)  (-7, -9)
C)  (-7, 9) D)  (-7, 1)

9)  4x + 7y = 23
4x + 4y = -4

A)  (10, -9) B)  (-10, 9)*
C)  (-8, -9) D)  (-9, -9)

10)  x - 4y = 9
5x + 2y = -21

A)  (-3, 3) B)  (3, -3)
C)  (-3, -3)* D)  (-8, 3)

11)  y = 3x + 4
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12)  y = -
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Solve each system by any method. You do not have to use the given graph. 

13)  y = 5x + 3
y = -x - 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

(-1, -2)

14)  y = -
1

2
x - 2

y = x + 1
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15)  2x + 3y = 6
7x + 3y = -9
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16)  x = -3
x - 3y = -9
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17)  x + 3y = -9
x + 3y = -12

x
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18)  3x + y = 2
x + 2y = -6
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19)  2x - y = 1
3x + y = 4

x

y
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20)  3x + 2y = -4
3x - 2y = -8

x

y
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